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No oaths are administered -MIYPIR TIAYW 99D BY Praw: IR
concerning the denial of real estate liens

OVERVIEW

The mwn states in My12w Noon that MYPAPT "1 7799V 7PYawl PRV 0227 1R,
The X3 there derives it from a 5921 1391 9%3. Our X3 (as well as the X3
in M21n2) [seemingly] expands this ruling to include also (PXT¥M) N2
mypap Tavw.” There is no maw even if the litigation per se is not
concerning ¥ p (as is the case of 0°v20); however if it affects a lien on vp7p
(which a "vw does) there is also no 7v1aw. This poses some difficulties
which n1501n resolves.

mooIN asks:
— 3Nﬂ”‘”N‘l RTIYY (3,797 97 x9m x22) VIV V) P92 99ONT 12035 9NN ONY

And if you will say; according to the one who maintains in ¥ vx pp

that XNI9INT RTI2YW, then -
— SMYpap Mayw 9919 XA ‘yaw) HnY Mwvh NYPN NN

Why should a »''2y% swear; he is denying a mypap Tiavw?!

N1B0IN answers:
— 5129w 195X SMupp Y93 99 PRY IX HAYYN 19 INNRY 9 U

And one can say that there is a (Xn*7IX72) »"2m NV in a case where the
mon forfeited his rights to the lien or in a case where the m> has no nwp-p
at all, even encumbered property.

mooIn anticipates a difficulty:

' See the following X 7"7 Mmoo,

% See 2p M *"™7a for an extensive explanation.

? There is a dispute there concerning the lien which a creditor has on the assets of the debtor (more
specifically, the lien on the real assets of the debtor which were transferred (after the loan) to buyers,
recipients, or heirs); whether this T2yw (lien) is of a 7710 origin or is it (merely) a rabbinic enactment. If we
maintain Xn7IRT X712W then 7707 17 (but not 112777) the creditor can seize the properties of the debtor
(whether they are free or encumbered) even if it is a 5"ya M.

* See “Thinking it over’ # 1.

> The mn (were he to be proven right), has a lien on the assets (including the nwpap) of the n"2m. By
denying part of the 211, the n"21 is denying the T2y°w which the 7727 has on his mypp. It is a case of N3
mypap M2y w; there should be no »"2m NYAW ever (RNMMRTH)!

® In these two cases it is not MypIp Mavw n7°93, since there is no T2yw; either because the M>n was 7mn the
712w, or there are no properties on which there can be a T12yw.

7 The m> did not (posses nor did not) transfer any property (to anyone) from the time of the loan onwards.
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— (a0 SPnNA M7 OV 2,19 7 menaw) PTPON NMAY D93 YINT 13N 349 *ax

However, according to ' who maintains in P7pPe7 NYIAW P99 that if

someone -
— 1399 29N DY 1YY YOV PN 9919

Denies and swears falsely concerning money to which witnesses attest that

he owed; he is liable for a m%° 1 oW 3299 if he subsequently admitted to his sin.

However, if he swore falsely concerning monies -
— MYPIP DAYV 99157 DIVN IV 9OV Iy YOIV

On which there is a "vw (that he owes it), then he is 9w from a j27p,

because he denies a nMYPaP TI2YW, since there was a "W, and a W can collect
from 0>721wwn (as opposed to a [2°7¥2] 5"y M9n). This concludes the statement of 711> .

mooIn continues with the anticipated question; it is apparent —
— MYPIP NayY 9919 1PUN XY 01yt

That by 2°>7v (alone) who contradict his denial it is not considered =21
MPPAP TAYW (if there is no "Ww) —
— INIINT RTIAYY 13NY 79 9207 23 YY 9N

Even though 3''9 maintains that Xn>¥9IR7 XT12YW. Mmooin asks that seemingly he
should be Mo from a j27p (even) if there were (only) 27V, just as he is M5 when there
is a W, because if we maintain XN»7IRT X72YW, then even by 2>7v (without a "vw) there
is Mypp Tavw and he is Mypap Mavw 1915.1°

mooIn explains the reason he is 217 by D7V is -
- “mmpb‘r N DIVN N HY NIYNA TIAYYN 00N 1WPINY 1190 DIVN 139N

That since the 2°»o1 nullified the 72w by an oral loan (when there was

no WWY; only witnesses) because this would cause a loss for the buyers —
— Payaywn 19 YA 19989 2PUN

¥ The word ax here may be understood to mean that concerning this following question we cannot answer
as we did previously that there was a 77°m or there were no Nyp7p. See footnote # 10.

? Mmoo (presumably) knew in the question that 11277% a 9"y M cannot collect from 2 728 7wn, nevertheless
moon assumed that the 0°m3n Nipn merely prohibits the mM>n from exercising his rights of Tayw, but the
T12vw itself remains; therefore the question stands, how can he swear since it is NMypIp T2YW N791.

12 We [obviously] cannot answer that *"1 is discussing a case of TI2vW: 12 mn or ¥pp 12 X, for then why is
there no 7v12w 21°11 if there was a 7Ww. [See footnote # 8.]

i According to the Xn»IXT R72YW 7"n, the 0°mdon made a 71PN, that a MP» cannot collect from o*72a9Wwn,
unless there is a Tww; however if it a 8"y m%n, then even though Xn»R71 the 7791 could collect from
0729w, nevertheless the 0°non cancelled the Tayw. The reason is because by a 5"y 7171 there is no 2, so
people may not be aware that there is a lien on the s'm? properties. Collecting from the mmp? causes them
undue harm. However by a quwa 7121 there is a 917 and people are aware that there is a T12¥w on the 0°031.
If they nevertheless agree to buy, then they accepted this risk that the m%» may collect from them.

"2 1t is not merely a denial to the % to collect; but rather since the i» had the option of refusing the loan
unless the 7% would write a 1uw, therefore since he agreed to 8"y m»n it is considered as if he forfeited his
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It is considered as if the 7157 was M7 the Tayw.

mooin qualifies the statement of *":
— Py 532 1199 1199 $7aYWUN 1YY SPNT 399599
And " is discussing a situation where the m% has >7aywn, but he does
not own 17 12, The reason for this is -
— VD DX1Y PIY Y 1PN Y9N 22 NPT TN INT
For if the m> would own > 13, then the ruling should be that even if

there are merely 27y testifying that he owes money, he should still be 112
from 1797 NY12W, since it is a case of MYPIP TAYw N9, for the M7 can collect from
M2 ypp even if it is a 5"ya M -

22N Y0V YUY Y I1DAN DITAVIVN IDIAN 119D 519D INY

And if there are no 2>721wwn, then even if there is a "vw against the MY,

he should be 2997 a 1277, since there is no mypap T2vw N°o5 (for the M has no real
assets either P77 "1 or o°72vwn). Therefore we must say that he has no 77 "1
(therefore by 0°7¥ he is 2°°11); however he has 0729w (therefore by 0w he is D).

SUMMARY

According to the Xn>7X7 X72yw 7"n the Ay12w of a n"2m is either when the
M1 is 2 the 2w or the MY has no ypap at all. Similarly when the m? has
no n"13, only 072y Wn, then there will be a NP7 N2 if there is no VW;
however there will not be a 7312w if there is a VW.

THINKING IT OVER
1. Moo asks if Xn»IXT X7128w how can there be a n"am nyaw.'"* Why did
not Moo ask how can there be a 8"y nyaw?!"”

2. Mmoo explained that according to "1 there is a 7¥12w by 2°7Y; since the
DmIn were Ypon the Tavw it is considered as if 12 Smn.'® However since
XN there is a 72vw; how can he bring a 1297, he is bringing 127
nalvp i

rights to the *7aywn. Once there is no T2yw, there can be a 7¥1aw. See ‘Thinking it over # 2.

1 >72ywn are properties which the 7 sold after the loan; *r *12 are properties which the i currently owns.
' See footnote # 4.

"% See 7"nX # 62.

' See footnote # 12.

"7 See 1"nx # 93.
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